Example of Statistical Analysis
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Distribution of hazardous weather events that caused social and economic damage in the period 1991-2012 by years. Russia

[image: image2]
Number of hazardous events (by types) in 2010 compared with the monthly average in the period 1991-2009
 (1 – strong wind, hurricane, squall, spout. dust storm; 2 – blizzard, heavy snowfall, a mix of snow and rain, slush build-up, glaze, glazed frost; 3 – heavy rain, long-lasting rain, shower, hail, thunderstorm; 4 – severe frost, freezing, strong heat, sharp temperature change; 5 – spring flood, rain flood, flooding, surge, ice jam; 6-avalanche, mudflow; 7 – atmospheric and soil drought, hot dry wind; 8 – fire hazard emergency; 9 – other)
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Average monthly number of hazardous events that caused economic damage in the period  1991-2009 compared with that in 2010
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Linear trend estimates in the time series of the number of days with icing at meteorological stations (days/decade) (indicated by color) and averaged (indicated by numerals) over quasi-homogeneous regions (%/decade) (1977-2012).
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a)Linear trend coefficient (days/10 years) in the time series of days with abnormally low air

temperatures (minimum temperatures lower than the 5th percentile) in winter (December–February). Time period1971–2010.

b)Linear trend coefficient (days/10 years) in the time series of days with abnormally high air

temperatures (maximum temperatures higher than the 95th percentile) in summer (June–August). Time period 1971–2010.
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y = 15,446x + 93,195

R

2

 = 0,8005
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